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TTORAA PREAVI PR TIIVING PREAVIAT JFIOINRR PRAVE PREWO 92" 093 957
This is the text according to >''w9

Overview

mooIn cites the X0 of °"w7 in the miwn which is brought here in the X773, and
discusses it. The word Xnwn or RnL™M with a "7"7" after the first 2"» means they can
become &nv. The word Xnun or 1Xnwn (without the 7"1°) means they make others &nv.

- v %3 DHN 0PN 1INNND PRNVINNT YWI9)
And °"?v1 explained that 3799 7mR% PR means ‘in the hollowed out space for

their base’. mooin continues (on his own); the 37711 -
= (x,MP 97PN VI YN P93 NIINTI DIINN PRNVNT 19V U5

Are certainly X»un others as is evident in 2097 Y57 299 that -
- NOYI SPION KIY 99919 *RNWNT IN1NOY N1 NNPVY NN NN

The measure of being X»u» is greater that the measure X»u, as the X3 there
states; for since it can bring in XM, is it then necessary to say that it can
dispense mxm; so if food is placed in the 77X of a Xnw 071 *93, it will become XL —

mMooIN anticipates a question:

= 199X 223 213019 19 NNNN PRNVIMY PRNVN P3NP N9T N
And the reason the mwn does not state 37°97MIRR PIRBVIAY PPRBVA as it states by
J1P9MIN; why by 777X it only states 7"Xnvn, but not XAV —

mooin replies:
- ©Y9NN 09992 19 PRV NN ‘amavn virn v 129N 22X DIVUN

Because regarding 375K there is a novelty by both Xnun and R»n07, since it
is not so by other utensils -

" They would hollow out the outside bottom of the utensil to serve as a base for it to rest on (somewhat similar to
some silver goblets [07v5v2] in use today). The vessel is 1178 AP0 227 because it is considered 191Nn/77 RN,

% The words Xnu*> 121 72177 do not appear in our texts in T2, It states X527 PR Xo™yn 21y XNw.

? The x»3 is discussing a (*19%) 7 like the stem of an apple. If we know that if a Xt 727 touches the 7 it ‘brings’ the
7R to the »1 (even though the 15 was not Xnv), so certainly if the »9 is Xnv the 7> can dispense the 7iXmv to others.
We see this by a 0717 °73 that even though it is not 123 Xm0 23R, nevertheless it is 123 Xnwn (see later in this NMooIN).

* moon just stated that the 077 *23 are certainly 17 mx? PRALR, so why does the 73wn not state it.

3 We cannot answer that the 73wn need not state 1RnYn, since it already stated 7PXnv R (so PRHLA w"d), for by 1K
the 72wn did state both; why is 17711 different from 717°7K.

6 A 071 "3 becomes Xnv if an XML 2R (a W) is suspended in its airspace; similarly if food is suspended in the
airspace of a Xnv 0711 °73, the food becomes ¥nv. However by other 0°73 there is no nxmW contracted or dispensed
unless there is physical contact between the *23 and the Xnv 927 or the ¥1v 73 and the food to become Rnv.

1
TosfosInEnglish.com



A" "7 '0M R,T0 Naw 702

= 99NN PRNVI N PRNVN DINY
That they (other 0°72) are not 1982w others nor “MN2 PR¥LM -
= 729NN PRPON 33 13 1PANT YITH DT PR PNHNRN DXINK RNVNY NNa YaN

However this which 0717 °%2 are X%»u» others 17778%, that is no w17om, for 01n °95

are X»un others even 323% which have no 97X so certainly 77182 which has 97X -
- 5B XINT 1INNRMN YN )9Y 991 ©991 Y3 19

And similarly all 2°%2 are 17°R% Rnavn, so certainly these on °%> are  Xnun

17799187 since there is the hollowed-out space -
- 133 PPRNPV PRT 2) Y GNT JIPAUNRY N 1P INNN PRNVN YaN
However regarding the 071 °%2 becoming 17577R» Kaw, the mwn taught it to let
us know that even though they are not 3237 PRRW -
= YNNI PNV 997 199N
Nevertheless they are 37997IR% 19RRWM”, even though 171X are somewhat similar to 7232.

mMdoIN responds to an anticipated difficulty:’
- 1NNNM DAPININMD PRNVVINY PPV 179 2599 XY 2979

And therefore the 7w»n did not mix them together writing PRRWIMY PRV

JIONIMNRRY QFITYIRR, but rather states 17°7"IX and 171X separately -
= INY PRNPVINI NXIX YITN PR DNIINN DAN DHNIYN YITN M 1D29INLT DIVN

Because by 37199%R there is a w17 17 in both cases (PXnv» and PXnvn), however
by 3799R, there is a w17°17 only by 198215 (but not by PXnvn) as just stated —

mooIn offers another reason why the 71w does not mix the two (37°7"K and 17°71K):
- 121):1‘1‘1)3 NON 1 XY 177INNND DAN NHIINT 13991 199NN “vmon ) ON

Or you may also say; 31°%R% PR2uR is n''712 however 31997mR®2 1R10N is only a
297 AN —

A third reason why they are not mixed together:
= 9991 9593991 199NN PNNPVINT NI

7 A o7 "3 which became Xnv can be Xnvn others (even) if they came in contact with the outside of the 0717 ¥92.

8 The w"> is a double one; first, since they are 123 &nun and two since other 273 are 232 Xnvn, so certainly 071 °25 are
TNRN Xnwn, for it has a greater measure of susceptibility to 7Xmw than 123 (since it has a ppr). The X"wain derives
from this that since '01n says that 17°711R are Xavn with a w"3, that means they are Xntun (and Xnvn) only by contact,
but not from the 777X MK, for if that were so, how is it a w"2, since nothing else is 7"X» Xnvn (see footnote # 22).

? We have established that a 0711 *23 is Xnw*» and Xnvn both 171"X» and 17 mK»n. Why then does the 71wn separate
them; writing 7777 PRAVAY 1PRAVM and then 172787 XYM when it could have joined them together?!

' This is referring to the distinction between the w17 of 171X (which is both by 1Xnw™m1 PRawn) as opposed to the
w17 of 37X (which is limited to 1Xnvn [but not to PRHLN]).

"' The w"w" amends this to read 1PRav ) (instead of 1PRnawvA).

12 See later footnote # 16.
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And additionally13 when we say 37°97R% pR2u that means the entire vessel
becomes Xnv -
- a9 125 NIN NPV PRY 912519 581 JNPINNRM PRNVIM YN

However when we say J7997R®R PR2W, it is possible to say that only the back
alone becomes X»W, but not 371X (or 77°23) —

Mmoo anticipates a difficulty:
- NV NPOY N1 N2 PN NN XOINT RN

And regarding this which we learnt in 2°17> nn; ‘the measure of X»wb is

greater than N»w» -
= 19INNND NNV PN PIINNRND OYINN RNDVNDY

For a 0317 °%2 is 1971872 X2, but is not 1979778% R2w’; this seemingly contradicts the
mwn here (according to °"wn) which clearly states 37nRM PRAVMY —

mooIn responds:
=AW N2 PPN KDY 2) 139D BN NINPT PINNRT 9139127 19981

We can answer that the 171X which the >"1n states there, it means the outside
of the "9 which is referred to here as 23, but not the hollowed-out base —

mooIn offers another resolution:
- npvon 192971 DAN RNIIINTN PINND NPV 1N 133 ON

Or you may also say; when the 2"In states Y9IIR?2 Rnwn WX that means n''im,
however 13397» it is N»wn —

A third and final answer:
= 1999 13999 PINNND NNV N 9IRPT R PINNND NPV NNIINTN 192ON 133 N

Or you may also say; the 2"1n may also maintain that 97K is N2u even n''in,

and that which the 2"1n writes 19917R% X»w» 1198 that means the entire *25, meaning -
- N9 1930 SaN 123 NYN 1PIINNRD INDID Y2PYUD NAY 1INT

That when it became 97 7R% X%»W only 123 becomes X»w but not 1>'n.

nooIN points out that according to this last answer, we can explain a X n3:

" This answer is not satisfied with the previous answer; the fact the one is n";m and the other 132772 may not be
sufficient reason not to join them, unless there is an actual difference 7139177 as started by this "197'.

' This seems to mean only the MR (not 1"23). See w"&77 MooN. This would mean that if it became 1R XY it
could only be 17"1%n Xnwun but not 19107 (or 123). See a similar answer later in footnote # 17

151 10 rnw.

' See (similar answer previously) footnote # 12

"7 See (similar answer previously) footnote # 14. The remarks about 123 there apply here as well. See “Thinking it over # 1.
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- (0w N,nY 47 M93) 1929 1IN P93 1959NRT NN 199Y SNN NNV

And now it will be properly understood this which the X713 states in 797212 Y98 75 -
= NIV N 12)T ¥IYN 191N NNV XY 1) Bxnvs o0 99

‘A o 92; if his outside became NX»v, his inside did not become N»w’;

indicating that 123, at least, did become X»W; but how could this be; we know that a 7>
017 cannot be 123 78V 22pn (as the 7Iwn here states 171723 1PRAVIA PR)?!

mooIn explains when the X 13 there states 123 X1 -
= PINN 12311 92) 123358 N1 297) PPN DIPNA PNNNND NPV 23 139N)

That means when it became 77R?” X»v in the place of the ppn, for sometimes

the X773 refers to the pprin 01P» as 123 and other times YR, but obviously if it was
Wnn 12 ’nvl, there is no RN at all -
- ) PV 1991 123 NNV DRY PPN 1Y YA 1PN 13951 981 BN S99Y N1)

And this which we say that a ©am 9> which is 2°no 7% a1 protects the o *92
and its contents from becoming nni7 %nR2 Rw, that is true even if it has a ppr (which
is not covered 7°no 7n¥2) that if 125 X»w1, nevertheless 1230 is completely 237,

mooIN anticipates a difficulty (if we assume that a 0717 ¥ is 1PN RPYMN):
= 90057 1981 NN PNV 19 PR DN 995 09991 RNADINA NIINT KNI

And regarding this which we learnt in the xnzown of 2°%2 noon; a o1 9> only
receives 82 from its airspace or through wes? —

mooIn replies; the Xnoon —
- 299N 9993 %7 PPNY 133 NIR PNINN SVINNY SNN KY

Is not coming to exclude »11mR, but only to exclude 123, since the ppn is
included in R9"N.

This concludes Mo01n understanding of *"w7s that o7 refers to the 2wy N2 ppn.
= 0999 RNODINA NINT DIVIPN WINAY N592D 1957 1PN Batyrun 13929 290 nvupm

18 See the 't X NP W there (on the TMY).

"% 123 here again meaning 11X, See footnote # 14 & 17. See “Thinking it over’.

%% This seemingly contradicts the 73wn here which states that 077 *%2 are P 1X» Xnu (not only 12101).

I o1 means moving it; if a 21 moves a 0717 *3 it is XMW P2apn. This is derived from the P09 (in 22,0 [yN¥n] ®IP*)
which states 131 720 277 12 v WK @7 °993. See *"wA there who comments, Y0077 731 IR 217 12130 RITW WD TN,

2 The ®noon did not write 1917 KoK Xnvn 7K, but rather 1718 X7, and the 1787 ppi is (also) considered 1R, See
R"w i who maintains that 1"1IRD Xnum Xnwn is only through 7v°31, but not if it is suspended in the 171X MK (see
footnote # 8 [and # 28]).

# See w"x1 '01n, who mentions him as 11 7"2 917X "M (known as the 1"2a87). He lived in Germany in the same time
as the n"1 (during the first Crusade in the year 1"1nn'7 when many n1?°1ip were ravaged).
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And ®''1 37371 R'' asked on >''w=p, for we learnt in a XnsoIn of 29> noon -
- %0595 PUNNYN )7 03NNNY NN DN 5993 »95 WRYNH Y3 Y990 At

“This is the rule; anything, in a 2717 “%2, that is used when turned over is 217%’.
And 2°97R are used turned over, so they should not be Xav.

Mo0IN answers:
- 5599 BNN DHa *9NT PPAYNY NP MDA DNNT ININY 135329 Y

And the 0"2w= answered that the Xno01n there is discussing the covers of a 797

o9, in which the Xnoo1n was involved there previously; the covers are not X -
=950 MAN GN NI NINY 15 %0515 NN DYLH YNNIV 15

As the reason for this is stated explicitly in 2'''n; ‘one may think that I will

include even the cover of the ¥93, therefore -
- 7N 112 PVIY PRY 9997 D295 V99 DN NN AU TUNR 7115 1nYn

The o5 teaches us by saying a2 o825 mwys 2wK (which work can be done

with them), to exclude the pot covers that we do no work with them’ -
= DYINN TIN NINDNM 1D PYIYY NVNY DN PV DY DIINN YaN

However, regarding the 2°97mR occasionally they are turned upside down and
work is done in the 2°7I1N.

According to >"wA the ppn or 1R of 0717 °95 (are Xnwn and) are IRMW 93pn, either n"nn or
112971, and it may be that the entire *5 is not X1 only 171> NX.

modoIn offers another X077 and interpretation regarding 07> MN:
- 17599NN 9NNND Y19 DNYINND PRNOM 331 1907 YIDN PNY 13239

And the >''1 explained that the text reads thus; (not R0, but) 29K PPRRWVR,

meaning they can be x»u»n others from 37199198 N -
- 1995 NNIPIV YA ON

If the 07 °95 became 3207 XBwY -
= 12) NP 1PN ANMIV Y2919 NY WID9 12X PNNVINI PN)

‘But they are not 3j23» X»w»’, meaning they do not become X»v even if the
XA touched 333 -

* The ppn (hollow) at the base of a >3 can be used only if the *93 is upside down. So it should be 0.
 povxy 777p are different types of pots.
61 0" rnw.
%" The 10 in 22,%° (I0W) Xp7 reads (in part); TaNYm TP WK *22 72 0 1Y *22 220 XpL? DDA DR 1Y 957 WK 9O
qI0) 2797 TY XYY RO 202 B3
*¥ In this the "3 disagrees with >"&1 (according to the X"w7712) who maintains that 77X can only be Y32 Xaun not
MR2 (see footnote # 8 & 22).
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- PAanmv 199275 PRT 1DNNR NN 19Y 99

And they are certainly not 7182 2p» from 377°7I9K 9N -
= ANMDIV 2D2PN) NY 9133 PINN NP P41 NI

And the same rule applies that they are not nxm=w %3p» if the 7xmv touched
TN —

Moo responds to an anticipated difficulty:
= DAYNINNND PRNVIN PRT VPI NDT NN

And the reason the 71wn» did not state explicitly that 3159IR% PRRWY PR; that is -
= NNV YMINN NYIa Yan YNON N 1I»NT 91919 Yy YT DIWYN

Because we should not mistakenly assume that 077172 18n0 X means only
the 27NN MR cannot be XMV 22pn, however touching 277" with a Xnv 127
would make them Rnw -

- 2099533 NIN JND 1PNT 1230 PRV PR 0P ¥97Y
Therefore the 7wn mentioned 3232 PRV PRI, for by 123 there is only
touching; there is no 123 KX —

mooIn responds to one (last) anticipated difficulty:
= 1752139 JN2INNN PRNVINM PPN PRNVI 1ND 23N 229 XD XM

And the reason the 71w»n did not combine and teach that 071 *95 are PR»YR but

not °X»W2 both 37199MR% and 379237 (instead of treating them separately) -
- BIﬂﬂ"”ﬁNﬂ N2 1922)2 RIMNA9 V919 "D NV 0IVN 199N

That is because the 71wn then would not have specified the novelty in 37923 and

the novelty of 37°97R; we would not know which case is the novelty -
= PRNVN JAYNNN TIND ITPANT NNIAID 1I2INNN PRNVN )N XNYN DAN

But now that the mwn separated them; it taught 371°98% PR2WVR for its novelty,

that it is X%w» even 37978 9%INR2 (even though it cannot be TP IMRA XMWV 22pn) -
SNV 1P02719 NI NP3 IT29NT 120 NNVIN PPN)

And the mwn also taught Jas% Xawo PRI that 123 are not IX®IW Saph even YoM,

According to the >"1 the 77X of 0717 °93 are not ARM™W 92apn either 17°7°8n or through 73731, but
they can be Xnun others even 110X X7 if the °25 became 19107 R

¥ According to the "1 many of the questions on >"w" are no longer there (footnote # 15, 20, and 24). However the
question from 11 198 P15 (by footnote # 18) where it says 1210 Xnv1 X? 123 Xnwl requires an  answer according to the
",

% Once we know there is no 723 IR through 731 (for there is no 723 7"K), we will understand that there is no
DN NY A2 Axknw. Perhaps according to the °"9 the word 72an refers both to 37°7IRY 123, This may also mean there
is no nXMW N22p through Y>3 by a 0717 95 at all (even 15w it is 191 IR 22pn because it entered 17IN).

1 See onow Pnn that we would not know that 177°7I1X% they are Xnaun even 177X 7717 not only 7¥°312 as by 123n.
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Summary
»"WwI maintains that 7°7MKR are ¥nvn and a8 9apn, while the °"1 maintains they

can be Xnvn, but are not XMV Y2apn

Thinking it over
1. moon explains the 5™n, which states Rnwon 1R "1 RAVDR RAL? N 7217

AR, that 1PNNRD Xnon 1K1 does not mean literally, but either not Xn»7X772 or
not 1913, etc.””> The question is if the >"n wanted to show that Xnv% n7n 721
Xnw hn, why mention 177X at all, the 2"n should have said, Xnpwon RavH N7 7217
P2XA N2V 11°KY 123 O°NX NDUDW?!33

2. After maoIn explains the X723 in M2, that 1910 XAWVI XY 123 RAW1 is referring to
MR (not 123), so therefore Xnwv1 123 HaR RnawvI X7 1010, after all this Nwown adds (a
line) 73 v 12N "1 22xn o1n vow n.>* Why was it necessary for moon to add
this?

32 See footnote # 17.
3 See x"wIN.
** See (text by) footnote # 19.
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